

Wednesday 7:00 pm

Little River Lanes

Lanes 1 - 32

Team Standings

Place	Lane	#	Team Name	Points	Points	Team		Pins +	Scratch	High Scratch		High HDCP	
				Won	Lost	Avg	HDCP	HDCP	Pins	10	30	10	30
1	4	6	IF YOU CAN T FIX IT DON	39	10	666	226	62895	48516	831	2285	1032	2882
2	16	3	JOYCE S STILL BOSS	36	13	712	185	62576	49616	839	2329	1020	2944
3	28	12	EAT MY SHORTS	35	14	656	235	61557	44940	737	2126	985	2870
4	31	1	NO DIFFERENCE	34	15	596	290	61854	40080	720	1979	1017	2858
5	17	32	RAT PACK	34	15	528	351	61319	36857	639	1822	964	2836
6	1	27	JOLLY ROGERS	33	16	640	251	61758	45903	751	2155	973	2790
7	30	21	BLACKJACK	31	18	639	251	61707	44688	749	2146	982	2809
8	13	22	MAIN STREET CHIROPRA	30	19	695	202	62466	48449	860	2423	1039	2981
9	7	19	DAMN YANKEES	30	19	625	264	62113	43042	737	2017	1013	2848
10	3	9	FIREBALLS	29	20	651	240	61587	44988	763	2086	990	2815
11	29	28	BROS	27	22	661	232	61439	45593	759	2186	996	2867
12	5	18	BOWLING STONES	26	23	659	233	61914	46283	780	2173	1006	2875
13	25	10	SPLITS HAPPEN	26	23	721	177	61879	47659	836	2298	1025	2916
14	10	14	SPARE ME	26	23	625	264	61704	43368	777	2011	1051	2804
15	19	13	TEN PLEZ	26	23	615	273	61491	43020	696	1968	974	2806
16	18	30	TEN PINS	26	23	639	252	61066	43243	764	2139	977	2763
17	14	29	ALLEY GATORS	25	24	641	249	61376	44456	753	2102	1001	2846
18	24	20	BOWLING ON THE RIVER	24	25	712	186	62369	49787	826	2347	1017	2838
19	32	15	DATE NIGHT	24	25	747	154	62322	52095	928	2523	1072	2894
20	8	25	THE MISFITS	24	25	648	243	61848	45267	786	2131	1040	2816
21	11	2	BOUT DAMN TIME	24	25	589	296	61630	40723	683	1901	986	2819
22	23	24	GUTTER DUSTERS	22	27	695	201	62107	47611	819	2246	1024	2861
23	12	16	HAVING FUN YET	22	27	653	238	62018	45317	765	2200	1009	2926
24	9	11	SUDZ OF FUN	21	28	579	305	61591	40477	699	2033	994	2925
25	2	23	KIRK S ICE CREAM	20	29	636	254	60925	43435	746	2044	1021	2836
26	26	5	FREE POINTS	16	33	679	216	61909	45994	808	2202	1030	2900
27	20	4	WHO CARES	16	33	575	309	61226	42073	758	2132	1007	2835
28	15	8	LUCKY STRIKES	14	35	632	257	61811	44663	794	2119	1057	2908
29	27	7	NO FEAR	14	35	682	212	61436	42239	741	2105	993	2867
30	21	17	SERIOUSLY	13	36	604	282	60949	41626	733	2041	1011	2815
31	22	26	ACHIN BONES	9	40	645	246	61404	44682	806	2137	1050	2869
32	6	31	BOTTLE BUNGALOW	8	41	514	364	60666	35637	634	1713	994	2874

Review of Last Week's Bowling.....

Lanes	Team Name	HDCP -1-	HDCP -2-	HDCP -3-	HDCP Total	Last Wk WON	Team Name	HDCP -1-	HDCP -2-	HDCP -3-	HDCP Total	Last Wk WON	
1-2	MAIN STREET CHIR	888	906	869	2663	2	↔	HAVING FUN YET	879	950	891	2720	5
3-4	BOWLING STONES	915	856	955	2726	5	↔	LUCKY STRIKES	884	897	865	2646	2
5-6	FIREBALLS	888	881	988	2757	3	↔	THE MISFITS	900	914	865	2679	4
7-8	BOTTLE BUNGALOW	949	877	872	2698	3	↔	SUDZ OF FUN	858	936	873	2667	4
9-10	DAMN YANKEES	848	909	933	2690	5	↔	BOUT DAMN TIME	910	851	888	2649	2
11-12	SPARE ME	900	914	854	2668	3	↔	KIRK S ICE CREAM	865	923	874	2662	4
13-14	JOLLY ROGERS	899	932	933	2764	2	↔	JOYCE S STILL BOSS	935	921	940	2796	5
15-16	ALLEY GATORS	817	931	822	2570	2	↔	IF YOU CAN T FIX IT	978	929	956	2863	5
17-18	BROS	903	963	948	2814	7	↔	NO FEAR	873	920	934	2727	0
19-20	ACHIN BONES	863	906	908	2677	0	↔	NO DIFFERENCE	961	928	969	2858	7
21-22	TEN PLEZ	824	904	847	2575	2	↔	BOWLING ON THE RI	876	880	987	2743	5
23-24	SERIOUSLY	862	920	970	2752	5	↔	SPLITS HAPPEN	937	842	965	2744	2
25-26	GUTTER DUSTERS	882	912	889	2683	2	↔	EAT MY SHORTS	906	927	884	2717	5
27-28	FREE POINTS	835	891	762	2488	0	↔	TEN PINS	872	898	917	2687	7
29-30	RAT PACK	825	889	896	2610	3	↔	DATE NIGHT	980	847	896	2723	4
31-32	WHO CARES	865	869	843	2577	2	↔	BLACKJACK	914	831	972	2717	5

Last Week's Top Scores

Team Scratch Game		Team Scratch Series		Team Handicap Game		Team Handicap Series	
826	DATE NIGHT	2261	DATE NIGHT	988	FIREBALLS	2863	IF YOU CAN T FIX
800	BOWLING ON THE RIVER	2235	JOYCE S STILL BOSS	987	BOWLING ON THE RIVER	2858	NO DIFFERENCE
780	SPLITS HAPPEN	2189	SPLITS HAPPEN	980	DATE NIGHT	2814	BROS
Scratch Game		Scratch Series		Handicap Game		Handicap Series	
Men	258 Keith Jones	719	Keith Jones	301	Duck Howard	792	Duck Howard
	256 Kurt Tonnessen	696	Rob Munoz	297	Kurt Tonnessen	786	Rob Munoz
	256 Duck Howard	657	Duck Howard	295	Alex Bell	761	Kurt Tonnessen
						761	Aaron Auerbach
Women	226 Jerri McKee	580	Bonnie Wiley	277	Jerri McKee	758	Sissy Benson
	226 Bonnie Wiley	561	Jerri McKee	275	Bonnie Wiley	749	Joann Demme
	200 Sissy Benson	542	Sissy Benson	272	Sissy Benson	742	Barbara Reaves

Season High Scores

Team Scratch Game		Team Scratch Series		Team Handicap Game		Team Handicap Series	
928	DATE NIGHT	2523	DATE NIGHT	1072	DATE NIGHT	2981	MAIN STREET CH
860	MAIN STREET CHIROPRA	2423	MAIN STREET CHIROPRA	1057	LUCKY STRIKES	2944	JOYCE S STILL BO
839	JOYCE S STILL BOSS	2347	BOWLING ON THE RIVER	1051	SPARE ME	2926	HAVING FUN YET

Season High Scores - Continued

	<u>Scratch Game</u>	<u>Scratch Series</u>	<u>Handicap Game</u>	<u>Handicap Series</u>
Men	285 Chris Testerman	803 Scott Zacher	325 Jason Snyder	860 Scott Zacher
	279 Scott Zacher	769 Keith Jones	324 Steve Truax	844 Randy Shelton
	278 Keith Jones	754 Randy Shelton	321 John Merrill	817 Steve Truax
	278 Randy Shelton			
	278 Jason Rosenthal			
Women	257 Renee Zialkowski	687 Renee Zialkowski	310 Kathy Rose	823 Sherry Carter
	253 Jerri McKee	622 Sherry Carter	304 Kim Evans	822 Renee Zialkowski
	247 Ginny Duncan	621 Bonnie Wiley	304 Linda Whitley	805 Kathy Rose

Split 1 High Scores

	<u>Team Scratch Game</u>	<u>Team Scratch Series</u>	<u>Team Handicap Game</u>	<u>Team Handicap Series</u>
	872 DATE NIGHT	2523 DATE NIGHT	1051 SPARE ME	2981 MAIN STREET CH
	860 MAIN STREET CHIROPRA	2423 MAIN STREET CHIROPRA	1050 ACHIN BONES	2944 JOYCE S STILL BO
	837 JOYCE S STILL BOSS	2347 BOWLING ON THE RIVER	1040 THE MISFITS	2926 HAVING FUN YET
	<u>Scratch Game</u>	<u>Scratch Series</u>	<u>Handicap Game</u>	<u>Handicap Series</u>
Men	285 Chris Testerman	803 Scott Zacher	325 Jason Snyder	860 Scott Zacher
	279 Scott Zacher	769 Keith Jones	324 Steve Truax	844 Randy Shelton
	278 Keith Jones	754 Randy Shelton	321 John Merrill	817 Steve Truax
	278 Randy Shelton			
Women	257 Renee Zialkowski	687 Renee Zialkowski	310 Kathy Rose	823 Sherry Carter
	253 Jerri McKee	677 Beanie Reithel	304 Linda Whitley	822 Renee Zialkowski
	247 Ginny Duncan	622 Sherry Carter	302 Renee Zialkowski	805 Kathy Rose

Individual High Averages

Men	221.48 Keith Jones	Women	186.83 Ginny Duncan
	213.57 Terry Wiley		182.91 Renee Zialkowski
	208.56 Scott Zacher		176.78 Bonnie Wiley

Team Rosters

ID #	Name	Pins	Gms	Avg	HDCP	-1-	-2-	-3-	High Game	High Sers	E-Av	True Pin Avg	Pin Drop
1 - NO DIFFERENCE													
1	Adrienne Manocchi	8336	69	120	99	124	151	136	162	411	120	120	
4	Dominick Manocchi	9021	66	136	84	145	140	188	189	490	135	136	
3	Al Gurney	8100	57	142	79	174	110	115	186	500	137	142	
10	Rob Munoz	10706	54	198	28	225	234	237	289	714	___	198	
2 - BOUT DAMN TIME													
5	Kim Evans	9384	66	142	79	158	136	164	223	512	143	142	
6	Biff Evans	8397	57	147	74	146	122	135	203	514	147	147	
7	Russ Case	9515	63	151	71	170	157	153	194	545	159	151	
46	Steve Regan	7168	48	149	72	a139	a139	a139	201	539	153	149	
3 - JOYCE S STILL BOSS													
11	Joyce Freeman	9935	57	174	50	180	158	165	233	607	165	174	
145	Duck Howard	12502	69	181	44	178	256	223	256	657	180	181	
83	Chip Beck	11284	63	179	45	221	160	181	233	618	180	179	
12	Chris Newman	10158	57	178	46	169	160	184	255	605	189	178	
4 - WHO CARES													
13	Rosie Scheswohl	2410	23	104	113	129	124	101	143	354	104	104	
158	Rachel Masterson	8147	57	142	79	a132	a132	a132	204	494	141	142	
15	Ron Scheswohl	11076	66	167	56	145	137	175	226	589	160	167	
21	Jim McClain	11241	69	162	61	150	167	126	210	567	160	162	
5 - FREE POINTS													
138	Jason Snyder	11129	66	168	55	171	178	148	267	597	149	168	
18	Robin Frey	9681	69	140	81	127	159	126	175	488	137	140	
28	Danny Lynch	8564	45	190	36	177	180	136	256	680	189	190	
20	Jason Kerstetter	11431	63	181	44	148	162	140	244	623	184	181	
6 - IF YOU CAN T FIX IT DON													
9	Shirley Foster	4005	27	148	73	159	153	189	189	501	___	148	
166	Joann Demme	9515	63	151	71	183	190	160	200	533	153	151	
129	Tim Walker	10613	63	168	55	217	150	129	234	618	___	168	
80	Jim Foster	10164	51	199	27	189	206	248	249	677	205	199	
7 - NO FEAR													
108	Myong Sulich	5090	27	188	37	171	181	181	236	640	___	188	
67	Wayne Southworth	7304	51	143	78	163	160	161	204	484	___	143	
161	Paul Sadler	11320	69	164	59	142	181	190	219	573	158	164	
120	Joe Sulich	3367	18	187	38	184	185	189	215	610	___	187	
8 - LUCKY STRIKES													
29	Cathy McLaughlin	8631	69	125	94	141	104	112	164	457	127	125	
115	Phil Lenkevich	9814	60	163	60	131	148	126	226	587	168	163	
167	George Jerome	11360	68	167	56	181	192	168	213	606	166	167	
31	Bud Naylor	5871	33	177	47	174	196	202	255	616	185	177	

ID #	Name	Pins	Gms	Avg	HDCP	-1-	-2-	-3-	High Game	High Sers	E-Av	True Pin Avg	Pin Drop
9 - FIREBALLS													
34	Janet Bayer	9494	69	137	83	111	145	166	191	506	132	137	
35	Jim Bayer	11132	69	161	62	155	118	210	214	563	164	161	
170	Sam Zahn	11137	66	168	55	171	140	181	232	594	171	168	
171	Bob Hubley	11152	60	185	40	210	237	190	237	645	192	185	
10 - SPLITS HAPPEN													
37	Heather Donohue	10761	69	155	67	163	153	142	214	543	153	155	
143	Perry Turpin	1191	6	198	28	198	194	238	238	630	—	198	
40	Pete McLaughlin	11797	66	178	46	186	159	205	225	650	184	178	
174	Randy Shelton	13168	69	190	36	205	151	195	278	754	196	190	
11 - SUDZ OF FUN													
186	Laurie Zacher	7067	63	112	106	129	114	94	161	411	107	112	
187	Karen Merrill	3645	33	110	108				166	384	101	110	
188	John Merrill	9438	63	149	72	142	161	178	242	515	135	149	
189	Scott Zacher	13765	66	208	19	179	201	172	279	803	204	208	
12 - EAT MY SHORTS													
131	Pat McStravick	8262	60	137	83	162	136	133	176	469	—	137	
134	Harry Wolfmuller	9255	60	154	68	140	143	186	202	511	—	154	
136	Tony Catana	10616	63	168	55	176	178	158	244	582	—	168	
190	Bennett SevernBrown	10868	55	197	29	193	235	172	247	701	183	197	
13 - TEN PLEZ													
47	Laura Briggs	8430	60	140	81	133	147	131	197	481	150	140	
191	Mike Spinelli	10334	66	156	66	132	126	150	210	542	155	156	
50	Bob Whitley	10071	63	159	63	138	170	136	216	573	157	159	
49	Linda Whitley	11103	69	160	63	149	189	158	236	538	163	160	
14 - SPARE ME													
53	Jim Olin	10627	69	154	68	130	151	148	201	528	157	154	
54	Melissa Stanley	8164	69	118	100	125	139	126	157	449	120	118	
55	Dennis Burnette	10366	60	172	52	191	159	136	236	652	170	172	
56	Ricky Stanley	12520	69	181	44	190	201	180	254	621	184	181	
15 - DATE NIGHT													
173	Bonnie Wiley	11137	63	176	48	226	193	161	226	621	175	176	
193	Sue Rosenthal	8812	58	151	71	159	131	121	188	516	148	151	
194	Jason Rosenthal	14337	69	207	20	236	178	226	278	732	203	207	
177	Terry Wiley	11533	54	213	15	205	191	234	259	735	219	213	
16 - HAVING FUN YET													
61	Dorothy Davis	7340	57	128	91	142	153	131	161	429	124	128	
137	Marlene Ackley	10273	63	163	60	143	145	167	212	535	—	163	
48	Tim Trost	8344	48	173	51	188	215	158	224	569	—	173	
63	Ty Queen	12474	66	189	36	167	198	196	256	673	187	189	
17 - SERIOUSLY													
58	Cathy Mueller	6473	60	107	110				149	391	105	107	
175	Gail Scott	7537	57	132	88	137	124	157	173	462	127	132	
36	Kurt Tonnessen	10068	54	186	39	163	256	219	256	666	—	186	
60	Tom Rosinski	10773	60	179	45	189	159	204	232	641	182	179	
18 - BOWLING STONES													
69	Lauri Gurrere	8021	54	148	73	160	129	157	194	512	145	148	
93	Jerri McKee	11996	69	173	51	196	139	226	253	586	171	173	
70	Dennis Quaranta	10292	63	163	60	160	189	173	245	587	164	163	
71	Bob Sciascia	8057	46	175	49	a165	a165	a165	248	643	—	175	
19 - DAMN YANKEES													
196	Toni Auerbach	7935	69	115	103	115	104	131	174	432	92	115	
197	Aaron Auerbach	11811	69	171	53	154	234	211	234	599	169	171	
43	Sherry Carter	10136	63	160	63	145	137	157	222	622	154	160	
57	Todd Carpenter	11320	63	179	45	a169	a169	a169	245	622	189	179	
20 - BOWLING ON THE RIVER													
104	Sue Molina	3873	25	154	68	135	115	192	199	516	—	154	
79	Julie Anch	7271	48	151	71	126	166	144	191	498	147	151	
25	Keith Jones	13289	60	221	8	247	214	258	278	769	215	221	
112	Steve Bonamo	9511	51	186	39	181	198	206	237	653	199	186	
21 - BLACKJACK													
180	Lorelei Griffith	7382	57	129	90	149	114	142	192	453	122	129	
172	Donna Sodano	10558	63	167	56	187	145	181	235	565	171	167	
181	Michelle Garavito	7374	48	153	69	147	162	168	213	547	146	153	
182	Brian Griffith	10861	57	190	36	180	159	230	266	649	202	190	
22 - MAIN STREET CHIROPRACTI													
85	Corrina Allen	9287	57	162	61	158	172	161	221	578	165	162	
86	John Allen	9719	64	151	71	168	187	137	228	541	150	151	
87	Renee Ziolkowski	12621	69	182	43	182	158	183	257	687	176	182	
88	Gary Ziolkowski	13833	69	200	27	180	189	188	248	723	198	200	

ID #	Name	Pins	Gms	Avg HDCP	-1-	-2-	-3-	High Game	High Sers	E-Av	True Pin Avg	Pin Drop
23 - KIRK S ICE CREAM												
89	Linda Maher	7064	51	138	82	144	131	126	179	491	144	138
90	Debbie Duncan	5102	36	141	80				202	500	142	141
91	Ginny Duncan	7847	42	186	39				247	613	187	186
92	Kevin Maher	10814	63	171	53	171	188	139	242	607	173	171
24 - GUTTER DUSTERS												
142	Bob Rhodes	5905	39	151	71	a141	a141	a141	216	539	—	151
94	Jessica Long	10313	60	171	53	a161	a161	a161	231	604	175	171
95	Carl Gause	11825	63	187	38	190	197	225	268	644	180	187
96	Jed Long	12880	69	186	39	188	211	160	255	653	189	186
25 - THE MISFITS												
97	Barbara Reaves	7718	66	116	102	148	132	153	169	433	116	116
98	Trip McClendon	8787	60	146	75	131	133	112	201	504	152	146
26	Chris Testerman	14229	69	206	21	179	221	193	285	708	192	206
24	Kevin Lagravenis	11384	63	180	45	199	185	164	235	639	186	180
26 - ACHIN BONES												
72	Tammy Cook	8129	57	142	79	148	131	152	181	496	134	142
140	Charlene Bodie	10641	69	154	68	197	166	171	210	552	—	154
78	David Smith	7123	41	173	51	124	167	162	222	602	—	173
141	Mike Stanley	12199	69	176	48	149	197	178	237	607	—	176
27 - JOLLY ROGERS												
133	Kathy Rose	7689	48	160	63				238	589	159	160
135	Tom Corcoran	10770	69	156	66	147	198	130	216	579	159	156
105	Valerie Roselli	9175	57	160	63	161	152	175	206	582	171	160
109	Alex Bell	3458	21	164	59	168	166	232	232	566	—	164
28 - BROS												
111	Sissy Benson	9581	63	152	70	157	185	200	212	542	151	152
62	Otis Harris	8872	60	147	74	185	153	125	189	516	155	147
119	Tom Marangelli	3258	18	181	44	179	215	192	215	586	—	181
184	Rich Reithel	11445	63	181	44	147	175	196	226	631	185	181
29 - ALLEY GATORS												
113	Ray Vaught	11292	66	171	53				214	591	177	171
114	Maria Davis	8443	66	127	92	113	159	96	190	455	129	127
185	Mike Brotherton	9432	57	165	58	183	200	123	233	591	160	165
116	Rich Dragani	8563	48	178	46	151	168	182	236	589	172	178
30 - TEN PINS												
42	Donna Hamilton	9088	60	151	71	144	142	156	198	552	148	151
81	Tony Pastore	7639	54	141	80				186	476	144	141
84	JR Custer	7081	39	181	44	162	203	192	252	602	—	181
117	Steve Truax	10480	63	166	57	164	156	124	267	646	162	166
31 - BOTTLE BUNGALOW												
123	Sandee Frommelt	8007	66	121	98	172	106	113	177	429	114	121
2	Sharon Piansky	7914	60	131	89	136	140	140	198	507	—	131
121	Karen Mitchell	8139	69	117	101	140	114	113	164	435	111	117
122	Timmy Mitchell	10053	69	145	76	136	152	141	199	513	142	145
32 - RAT PACK												
125	Phillip Norford	8715	66	132	88				207	492	137	132
126	CK Norford	6766	66	102	115	a92	a92	a92	135	366	97	102
128	James Horchler	8541	66	129	90	107	130	152	168	444	136	129
127	Jim HorchlerII	11440	69	165	58	156	188	165	222	609	155	165

Temporary Substitutes

Name	Avg HDCP	Pins	Gms	High Game	High Sers	HDCP Game	HDCP Sers	-1-	-2-	-3-	Total	HDCP Total	
Alan Ackley	152	70	3664	24	204	503	273	719			0	0	
Melo Alvarado	112	106	3381	30	161	419	238	666			0	0	
Bob Ascoli	bk155	67	449	3	160	449					0	0	
Alston Babston	208	19	3131	15	258	680	294	758	161	195	212	568	613
RoseAnn Barrey	169	54	8139	48	210	545	264	734			0	0	
Kim Butz	96	120	867	9	120	305					0	0	
Frank Carapezza	179	45	4316	24	225	581	273	725			0	0	
Frank Chaparro	bk166	57	448	3	172	448	229	619			0	0	
Gigi Coffman	bk149	72	843	6	170	425					0	0	
Bunnee Connors	159	63	1438	9	175	500					0	0	
Robert Cook	187	38	2249	12	227	641	247	697	171	203	191	565	679
Ryan Croson	129	90	4268	33	171	493	254	727			0	0	
Jim Donahue	176	48	2112	12	205	575	219	628			0	0	
Cassie Esterak	bk99	117	385	3	148	385	265	736			0	0	
Corbin Esterak	bk200	27	653	3	237	653	264	734			0	0	
Bruce Gerdaud	196	30	1769	9	239	649					0	0	
Daniel Harrison	188	37	2832	15	239	641	277	755			0	0	
Bill Haynes	166	57	2499	15	206	557	268	743			0	0	
MaryKay Haynes	171	53	4121	24	242	563	253	731			0	0	
Bobby Higgs	168	55	3040	18	224	621	239	688			0	0	
Bob Hileman	bk202	25	637	3	246	637					0	0	

Name	Avg HDCP		Pins	Gms	High Game	High Sers	HDCP Game	HDCP Sers	-1-	-2-	-3-	Total	HDCP Total
Mary Hileman	bk155	67	432	3	158	432						0	0
Clay Hill	188	37	2632	14	226	584	264	700				0	0
Bonnie Hine	184	41	7733	42	221	597	261	721				0	0
Rob Hine	152	70	2748	18	192	497	265	716				0	0
Kirby Hrusovsky	148	73	6243	42	210	507	283	729				0	0
Arlean Huff	bk116	102	363	3	122	363						0	0
Linda Joseph	145	76	2178	15	185	472	264	709	133	185	154	472	709
Tom Karkutt	197	29	1185	6	237	620			194	189	237	620	731
Pat Lagravenis	185	40	2785	15	258	632	306	776				0	0
David Lloyd	186	39	3921	21	248	654	286	774				0	0
Joe Longo	bk165	58	961	6	168	489						0	0
Nick Lopano	161	62	8401	52	205	577	267	763				0	0
Tony Mayo	bk217	11	1245	6	267	698						0	0
Ralph Molina	bk166	57	1067	6	213	545						0	0
MaryAnn Pastore	136	84	4095	30	190	465	252	719				0	0
Beanie Reithel	185	40	8348	45	238	677	280	794				0	0
Tami Rhodes	bk161	62	568	3	195	568	257	754				0	0
Michael Roselli	184	41	4416	24	225	575	265	712				0	0
Traci Rosenthal	197	29	4154	21	226	632	254	682				0	0
Kim Rosinski	116	102	2798	24	152	373	252	712				0	0
Kate Ruzicka	104	113	629	6	125	327						0	0
Augie Schuyler	217	11	9796	45	279	716	294	757	220	213	193	626	656
Jim Scott	158	64	2858	18	189	546	250	729	136	144	153	433	619
Tom Scott	149	72	4038	27	205	490	280	715				0	0
Don Simmons	202	25	7879	39	268	691	297	778	182	191	199	572	647
Mark Slivka	187	38	3372	18	235	599	262	719				0	0
Joe Snead	173	51	7301	42	224	599	276	751				0	0
Donna Sullivan	92	124	555	6	116	282						0	0
Kenny Swisher	172	52	1553	9	190	542	233	671				0	0
Olga Torres	146	75	438	3	150	438						0	0
Rick Torres	bk174	50	1073	6	193	544						0	0
Bill VanDyke	bk182	43	430	3	155	430						0	0
Pat VanDyke	166	57	2999	18	225	602	286	785				0	0
Jeremy Vanleeuw	bk175	49	603	3	217	603						0	0
Pat Virgilio	bk158	64	952	6	172	492						0	0
Bill Wellbrook	205	22	9242	45	268	668	295	734				0	0
Nick Werther	191	35	574	3	210	574			171	193	210	574	679

Lane Assignments

		1-2	3-4	5-6	7-8	9-10	11-12	13-14	15-16
Wk24	02/25	27-23	9-6	18-31	19-25	11-14	2-16	22-29	8-3
Wk25	03/04	9-18	2-14	16-23	27-22	29-3	8-6	31-25	19-11
Wk26	03/11	3-14	25-29	8-11	2-9	31-23	22-19	6-16	27-18
		17-18	19-20	21-22	23-24	25-26	27-28	29-30	31-32
Wk24	02/25	32-30	13-4	17-26	24-20	10-5	7-12	28-21	1-15
Wk25	03/04	26-13	5-12	7-30	28-32	15-21	4-1	17-20	10-24
Wk26	03/11	5-15	20-21	10-1	13-12	17-30	28-24	4-7	32-26